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1. Refer to the exhibit that appears below.

What is the meaning of the icon in the exhibit?

CAUTION

A. An antistatic bracelet (ESDS) must be worn.

B. Gloves are recommended (high temperature).

C. A power supply should never be replaced when it is energized (electric shock).
D. Personnel must be authorized to work, according to the local safety standards.

Answer: A

2. In which NTP volume can you find the information about the replacement of a specific module in a GSM
Base Transceiver Station (BTS) 180207

A. 411-9001-161 BTS 18000 Fault Clearing

B. 411-9001-160 BTS 18000 Fundamentals

C. 411-9001-162 BTS 18000 Troubleshooting

D. 411-9001-051 TML (BTS) Commissioning and Fault management

Answer: C

3. Which function is NOT a function of the Base Transceiver Station (BTS) site manager?
A. GSM Time management

B. TX and RX management

C. Abis interface management

D. LAPD signaling concentration / deconcentration

Answer: B

4. What is the maximum power generated by a RM 19007
A. GSM 30 W - EDGE 30 W

B. GSM 40 W - EDGE 30 W
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C.GSM 40 W - EDGE 40 W
D. GSM 60 W - EDGE 45 W

Answer: A

5. What is the maximum number of TRXs in a three-cabinet GSM Base Transceiver Station (BTS) 18020
using MPRM modules?

A.6

B.9

C.18

D.54

Answer: D

6. What is the maximum configuration of the GSM Base Transceiver Station (BTS) 18000 using HPRM
modules in V16.0?

A. 356.6.6

B. 3516.16.16

C. 3518.18.18

D. 3512.12.12

Answer: D

7. What is the meaning of the S111 working mode in a RM module?
A. three TRXs of the RM belong to the same sector

B. three TRXs of the RM belong to three different sectors

C. three TRXs of the RM belong to the same frequency band

D. three TRXs of the RM belong to three different frequency bands

Answer: B

8. How many reception paths are needed in a Radio Module (RM) configured in O3 mode?
A. it depends on the cabling of the DDM

B. it depends on the configuration of the sector
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C. one main and one diversity path for all TRXs
D. one main and one diversity path for each TRXs

Answer: C

9. Refer to the exhibit that appears below.

In which configuration of a GSM Base Transceiver Station (BTS) 18000 can two ICM boards reside in a

single shelf?
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A. a GSM BTS 18000 with IBP panel
B. a GSM BTS 18000 with DBP panel
C. a GSM BTS 18000 with CIBP panel
D. a GSM BTS 18000 with CDBP panel

Answer: C

10. Refer to the exhibit that appears below.

What are the cabling problems in the GSM Base Transceiver Station (BTS) 180007

4/12




The safer , easier way to help you pass any IT exams.

ABM 0
o | licmo| [1icM1]|  psinks
Abis i [l
Shared 4pis | 4 4 2
IFM 1 . AW 1
Ahls =-----.--:--..---P &
E_links
#—
D-finks
.

RM 3 RM 4 RM 5

A. The IFM1 should be directly connected to ICMO.

B. The Abis should be directly connected to the ICM.

C. The E-link should be between the ICM and the ABM.

D. The ICMO and ICM1 should be connected to ABMO and ABM1 respectively.

Answer: D

11. Refer to the exhibit that appears below.

According to the table in the exhibit, how many rectifiers of 1400W are necessary (with redundancy) for a

GSM Base Transceiver Station (BTS) 18000 populated with Radio Module (RM) 1900 in which the

configuration is S4447?

| #RMin | qogq | Spec. | FRect | #Redld | oot 1kW |#Rect14kw
#TRX | GSM Conso | Conso TkW KW
1800/1900 DC (W) b W) wio redundancy w/ redundancy
3 ! 1400 1672 2 2 2+1 2+1
6 2 1926 2331 3 2 3+1 2+1
9 3 2451 2969 3 3 3+1 341
12 4 2976 3648 4 3 4+1 3+1
15 5 3501 4307 5 4 N/A 4+1
18 5 4027 4966 B 4 N/A 4+
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B.3
C.4
D.5

Answer: C

12. How many link and alarms can the lightning protection PRIPRO2 support ?
A. 4 Abis links and 8 external alarms

B. 4 Abis links and 16 external alarms

C. 8 Abis links and 8 external alarms

D. 8 Abis links and 16 external alarms

Answer: A

13. Refer to the exhibit that appears below.

Which modules of the GSM BTS 18000 match the numbers in the exhibit?
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A.1:ECU 2:UCPS 3:RICO 4:ADU
B.1: UCPS 2:RICO 3:ECU 4:ADU
C.1:ADU 2:UCPS 3:ECU 4:RICO
D.1:RICO 2:UCPS 3:UCPS 4:ADU

Answer: C

14. Refer to the exhibit that appears below.

When powering on the BTS 18020, in which order should the modules in the DDU be switched on?
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A. all simultaneously

B. Digital/RICO, RFO, ECU, RF1
C. RFO0, RF1, ECU Digital/RICO
D. ECU, Digital/RICO, RF0, RF1

Answer: D

15. When configuring a GSM Base Transceiver Station (BTS) 18000, what is the maximum number of
TRXs that can be defined on a LAPD timeslot?
A.6

B.8
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C.9
D. 10

Answer: C

16. Refer to the exhibit that appears below.

The TEI of the Base Transceiver Station (BTS) is configured via the switch 10 (SW10) in the ICM board.

According to the exhibit, what is the TEI value?

-
-
-
-
-
-
-

B.1
C.2
D.3

Answer: A

17. What is the main difference between a Base Transceiver Station (BTS) in stand-alone mode and a
BTS in connected mode?

A. In stand-alone mode, the ICM board is not operational, whereas in connected mode it is operational

B. In the connected mode, the ICM board is operational, whereas in the stand-alone mode it is not
operational.

C. In stand-alone mode, the BTS is not linked to the network, whereas in connected mode it is linked to

the network.

D. In connected mode, the BTS is not linked to the network, whereas in stand-alone mode it is linked to
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the network.

Answer: C

18. Refer to the exhibit that appears below.

What are the TEI values of the TRX that are in stand-alone mode?
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A.32-35
B.32-36
C.33-36
D. 34 - 37

Answer: D

19. Refer to the exhibit that appears below.

Which module is impacted when the TIL shows the alarm below? AC_MAIN_BREAKER_CABO
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Alarms of ABM O [Outdeor B 151 8000

: IDDM{HZ) 7 3DDM(HZ) 7 IDDMHZ) | NB1 N9 ]

B |AC_MAIN_BREAKER_CABQ B |USER_SYSTEMDO B [EXT_ALARM_1 B [BLOWERO_D
B |LIGHT_PROT_FaiLD B [LUSER_SYSTEMI B [EXT_ALARM_2 B |[BLOWERDY
B [BATT_TEMP_CABO B [USER_SYSTEM2 B |EXT_ALARM_3 B |HEATEROD
B [BATT_POWER_DC_CABO B [USER_SYSTEM3 B [EXT_ALARM_A B [HEATERD 1

B |BATT_DOOR_CABD B [USER_SYSTEMA B [ExT_ALARM_S B [DAMPER_MOTORO
W |BATT_POWER_AC_CABD B [USER_SYSTEMS B [EXT_ALARM_B B [4R_INLETO
B |BATT_SURGE_PROTECTO B |[EXTERMAL_CONTACT_ACCESS | M |EXT_ALARM_7 B |EXT_SENS0R_FAILD

B |DOOR_COMTACTD

il

ok

W [E<T_ALARM_D

Cloge

B |ECU_0 ACCESS

S

B [INT_SENSDR_FaILO

il

A. ADU

B. ECU

C.RICO

D. UCPS

Answer: A

20. Refer to the exhibit that appears below.

Which module is impacted when the TIL shows the alarm in the exhibit?
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Alarms of ABM 0 [Outdoor BTS18000 : 3D0DM{HZ) / 3DDM{HZ) £ IDDMEHZ) [NBT N1

B |[ECU_0 TEMP_OUT | B [DOM_HZI0-DIV LNA -l |DOM_HZR 2 VswWh A3 ;l {DEMIHZI2 2 vewr_LvL2
W [DDM{H2I0_ACCESS B [DDMLH2)0MAIN_LMA | ® [DDMLH21_DIV_LNA |18 jDOMH22 2 VEWwR A3
B [DOMOHZI0 1 WewR_ LV B |ODM{_H2N_ACCESS | I {DDMEHZA-MAIM_LNA iI |DDME_H212 DIV, LA

B [DOM{H2)0 1 VEWR_Lyl2 | I {DDM{H2H_ 1 VSWR- LWL ] |DDM|_H2[2 ACEESS B DOM{ HZ12_MaIN_LMA

B [GOM{H2)0_1_VSwWR_LVL3 | B [DDM{H21 1 VSWR_LVL2 | [DDMLH2Z 1 VSWR_LVL '@ [RECT_0FAILAC

B |[DOMLHZ0.Z VSWR_LYLT W [DDM{H2N_ 1 VSWR_LVL3 |W [COMLHZE_ 1 VeWA_Da2 ;I. {RECT O FAIL_DC

B [DDMH2)0 2 VS\wWh LYL2 B [DDMLHZN 2 VSWR_LYLY B |DCHEHZR 1 VEWR LS | |RECT 0 HIGH TEMP

W [DDMHZ0.2 VWA LvL 3 B [DOM{H2J_ 2 VeWR Lvi2 B [DOMUHZR 2 VSWR LV | [BATT LEVELY

A. ADU
B. ECU
C.RICO
D. UCPS

Answer: D
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